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£ 7K AR A H H28.9.12 | H28.7.26 & H28.8.8 H28. 8. 8 H28. 8.9
PN i i = i = i
X I (C) 27.8 24.8 31.4 29. 1 34.2
7K I (C) 25.2 22.2 25.9 25. 1 25.8
¥ = Wik (mg/L) 0. 06 <0. 06 0. 08 0. 08 0.07
Ve = = Wi it (mg/L) <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 = = N 2 I (mg/L) 0.011 0. 0069 0.013 0. 0087 0. 0083
v Vi = = Wi it (mg/L) 0. 007 0. 006 0. 008 0. 005 0. 005
T 7 m ®E J v oua A K (mg/L) 0. 0008 0. 0008 0. 0009 0. 0008 0.0016
B = Wik (mg/L) <0.001 <0.001 <0.001 <0.001 <0.001
S ) PN - B S SV (mg/L) 0.017 0.011 0.019 0.013 0.015
~ ) 7 = = (mg/L) 0. 009 0. 006 0.010 0. 007 0. 006
7 v ¥ Y 7 v oua A X v (mg/L) 0. 0048 0. 0032 0. 0049 0. 0038 0. 0050
v = = 7 I A (mg/L) <0. 0001 <0. 0001 <0. 0001 <0. 0001 0. 0001
A A AN 7 L F B K (mg/L) <0. 002 0. 003 0. 005 0. 003 0. 002
HFHEW (& F 8 R FE (00 O &) (mg/L) 0.6 0.5 0.6 0.5 0.5
p H i 7.3 7.4 7.3 7.4 7.3
S BEnaL BEARL O ORERL 0 ORERL O RERL
= = HEaL O MEARL . ORERL L ORERL O REARL
=) B (B5) 0.5 0.5 0.5 0.5 0.5
i & () 0.1 0.1 0.1 0. 1 0.1
123 ® H e (mg/L) 0.8 1.0 0.7 0.6 0.8
il ) = W (mg/L) <0. 06 <0. 06 <0. 06 <0. 06 <0. 06
s v w7 v h= kUL (mg/L) 0. 001 0. 001 0. 002 0. 001 0. 002
L 4 = 7 - U (mg/L) 0. 004 0. 004 0. 007 0. 004 0. 004
B X M & (T O N ) ¢! 1 1 <1 <1
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